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AA = array([[2,3], [1,4]])
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with(linalg) :
MatExp = exponential(AA, t)
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Xcero :== array([-1,1])
Xcero:Z[ -1 1 ]
BB = array( [1‘2, Sexp(t) ])
BB=| 7 s5¢ |
SolPart == evalm( MatExp &* Xcero) : SolPart[1]; SolPart[2];
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MatExpTau == map(rcurry(eval, t =t — tau'), MatExp)
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BBtau = map(rcurry(eval, t =tau'), BB)
BBtau =

12 Ser}

ProdTau == evalm(MatExpTau &* BBtau) : ProdTau[1]; ProdTau[ 2],
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SolNoHom = map(int, ProdTau, tau=0 ..t) : SoINoHom|[1]; SoINoHom[2];
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SolCompleta = evalm(SolPart + SolNoHom) : x[1](t) =SolCompleta[1];x[2](t)
= SolCompleta[?2 ]
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_> Sistema[ 1] = diff (x[1](¢),t) =2-x[1](¢) +3-x[2](¢2) + 7

d

E;%u)=2%u)+3@u)+ﬁ

Sistema1 =

=> Sistema[2] = diff (x[2](¢), t) =x[1](¢) +4-x[2](¢) + 5-exp(¢)

=> Comp[ 1] = simplify(eval(subs(x[1](t) =SolCompleta[ 1], x[2](t) =SolCompleta[?2 ],

=> Comp|2] = simplify(eval(subs(x[1](t) =SolCompleta[ 1], x[2](t) =SolCompleta[?2 ],

g;%uwmgn+4%u)+sé

Sistema2 =

lhs (Sistema|1]) — rhs(Sistema[1]) =0)))
Comp,:==0=0

lhs (Sistema[2]) — rhs(Sistema[2]) =0)))
Comp, :=0=0
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